Řešení cvičení  z 16. 11.
str. 42/10

a) 25,4 + 81,9 = 107,3

b) 3 . 582 = 1746

c) -15 + 5 . (-19) = -110

d) 12,5 . [22   + (-7)] = 187,5

e) 12,5 . (-7) + 12,5 . 22 = -87,5 + 275 = 187,5

f) 3 . 9 + 5 = 27 + 5 = 32

g) 3 . (9 + 5) = 3 . 14 = 42

str. 42/11

a)  ( 64 : 16)2 = 42 = 16 

b)  [  - 6 + ( -3) ]2 = ( -9)2 = 81 

c)  ( – 6)2  + ( -3)2  = 36 + 9 = 45

d) √225 - √144 = 15 – 12 = 3

e) ( 22 )2 = 42 = 16

str. 42/12(A)

a) 3 . ( 2,5 + 3,5) = 3 , 6 = 18

b)  5 . ( 32 – 27) = 5 . 5 = 25

c) 42  + 72 = 16 + 49 = 65
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